3pa3ok iHAUBIAYaJIbLHOIO 3aBIaHHS
(IHA3 Ne 1, I cemecTp)

Kykoscebka T. T

1. O0YHCIUTH BUSHAYHUKU:

3 4 67 |1 2 34 1

1 -2 3 4 2 3 41 4 9
5 -1 2 4 3 41 2" |9 16
8 7 15 |41 2 3 16 25
1 -2 3 4 5 1 2 7 7
2 1 -4 3 300 2 21
3 -4 -1 -2 1 3 4 5" |28
4 3 2 -1 2003 [14

9 16
16 25
25 36
36 49
-3 6 -4
-2 2 -3
-4 4 -2
-2 2 -1

2. JlocmiuTy Ha CYMICHICTh Ta BU3HAUEHICTh CHCTEMH JTIHIMHUX PiBHSIHB:

2X, +3X, +11x; +5X, = 2, X, +3X, + X, +2X, =4,

X, + X, +5X; +2X%, =1, 2X; — X, +2X3 —3X, =1,
2%, + X, +3%X; +2X, ==3; X, +2X, +3X; —2X, =4,
X, + X, +3X; +4X, ==3; 4%, +4X, +6X, —3x, =9;

X, + X, +2X; +3X, =1;
3X, — X, — X3 —2X, =4,
2%, +3X, — X3 — X, =—6;
X, +2X, +3X; — X, =—4.



